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Directions (1-5)—Rearrange the following six sentences
(A), (B). (C), (D), (E) and (F) in the proper sequence to form
a meaningful paragraph, then answer the given questions.

A. When these millennium development goals were first |

formulated in 1990, 53.5% of all Indian children were
malnourished.

B. This would still be below the target of reducing
malnourishment to 28.6%

India has been moderately successful in reducing poverty.
. Since then, progress has been slow.

E. Today, it is estimated that malnourishment could
decline to 40% by the end of 2015.

F. However, cradicating  hunger along  with
malnourishment still remains a key challenge,
according to the Millenium Development Goals.
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1. Which of the following should be the FOURTH sentence

after rearrangement ?
(1) A (2) B (3)C
) E . W5 D
2. Which of the following should be the THIRD sentence after
rearrangement 7
W A (2) B {(3)F
(4) D (5) E
3. Which of the following should be the SECOND sentence
after rearrangement ?
(1) A (2) B (3)C
(4) D 9 F
4. Which of the following should be the FIRST sentence after
rearrangement 7
(1) A (2) B W C
(4) D (5) E
5. Which of the following should be the LAST (SIXTH)
sentence after rearrangement ?
(1) A (2) F (3)D
@ C ) B
Directions (6-15}—Read the following passage carefully
and answer the guestions given. Certain words/phrases

have been given in bold to help vou locate them while.

answering some of the questions.
From a technical and economic perspective, many
assessments have highlighted the presence of cost-effective
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opportunities to reduce energy use in buildings. However
several bodies note the significance of multiple barriers that
prevent the take-up of energy efficiency measures in
buildings. These include lack of awareness and concern,
limited access to reliable information from trusted sources,
fears about risk, disruption and other ‘transaction costs’,
concerns about up-front costs and inadequate access to
suitably priced finance, a lack of confidence in suppliers and
technologies and the presence of split incentives between
landlords and tenants. The widespread presence of these
barriers led experts to predict that without a concerted push
from policy, two-thirds of the economically viable potential
to improve energy efficiency will remain unexploited by
2035. These barriers are albatross around the neck that
represent a classic market failure and a basis for
governmental intervention.

While these measurements focus on the technical, financial
or economic barriers preventing the take-up of energy
efficiency options in buildings, others emphasise the
significance of the often deeply embedded social practices
that shape energy use in buildings. These analyses focus not
on -the preferences and rationalities that might shape
individual behaviours, but on the ‘entangled’ cultural
practices, norms, values and routines that underpin
domestic encrgy use. Focusing on the practice-related
aspects of consumption generates very different conceptual
framings and policy prescriptions than those that emerge
from more traditional or mainstream perspectives. But the
underlying case for government intervention to help to
promote retrofit and the diffusion of more energy efficient
particles is still apparent, even though the forms of
intervention advocated are often very different to those that
emerge from a more technical or economic perspective.
Based on the recognition of the multiple barriers to change
and the social, economic and environmental benefits that
could be realised if they were overcome, government
support for retrofit (renovating existing infrastructure to
make it more energy efficient) has been widespread.
Retrofit programmes have been supported and adopted in
diverse forms in many settings and their ability to recruit
householders and then to impact their energy use has been
discussed quite extensively. Frequently, these discussions
have criticised the extent to which retrofit schemes rely on
incentives and the provision of new technologies to change
behaviour whilst ignoring the many other factors that might



limit either participation in the schemes or their impact on
the behaviours and practices that shape domestic energy
use. These factors are obviously central to the success of
retrofit schemes, but evaluations of different schemes have
found that despite these they can still have significant
impacts.

New experts suggest that the best estimate of the gap

between the technical potential and the actual in-situ |

performance of energy efficiency measures i1s 50%, with
35% coming from performance gaps and 15% coming from
‘comfort taking’ or direct rebound effects. They further
suggest that the direct rebound effect of energy efficiency
measures related to household heating is likely to be less
than 30% while rebound effects for various domestic energy
efficiency measures vary from 5 to 15% and arise mostly
from indirect rebound effects (i.e. where savings from
energy efficiency lead to increased demand for other goods
and services). Other analyses also note that the gap between
technical, potential and actual performance is likely to vary
by measure, with the range extending from 0% for measures
such as solar water heating to 50% for measures such as
improved heating controls. And others note that levels of
comfort taking are likely to vary according to the levels of
consumption and fuel poverty in the sample of homes where
insulation is installed, with the range extending from 30%
when considering homes across all income groups to around
60% when considering only lower income homes. The scale
of these gaps is significant because it materially affects the
impacts of retrofit schemes and expectations and

perceptions of these impacts go on to influence levels of |

political, financial and public support for these schemes.
The literature on retrofit highlights the presence of multiple
barriers to change and the need for government support, if
these are to be overcome. Although much has been written
on the extent to which different forms of support enable the
wider take-up of domestic energy efficiency measures,
behaviours and practises, various areas of contestation
remain and there is still an absence of robust ex-post
evidence on the extent to which these schemes actually do
lead to the social, economic and environmental benefits that
are widely claimed.

. Which of the following is most nearly the OPPOSITE in
meaning to the word *CONCERTED’ as used in the passage?
(1) Collaborative (2) Piled
(3) Subtracting (4) Necessary

W& Weak

7. Which of the following is most nearly the OPPOSITE in
meaning to the word ‘ROBUST” as used in the passage 7
(1) Manual (2) Loose
(3) Vogue A Flimsy
(5) Flexible

. Which of the following is most nearly the SAME in

meaning to the word ‘“UNEXPLOITED’ as used in the

passage ? '

) Untapped (2) Unanswered
(3) Explored (4) Developed
(5) Vacant

9. The title for the given passage could be ......... :
(1) How to measure the impact of retrofit programmes of
energy conservation
y2) Barriers to effective usage of energy

|

10.

11.

12.

13.

14.
. A. of the view that no amount of efforts can bring about

(3) Views of stalwarts on disadvantages of retrofit
programmes

(4) Existing practices of conserving energy

(5) How much energy is to be consumed

According to the author, to make programmes for

conserving energy more successful ......... :

A. Only latest technology must be employed.

B. The author’s country must adhere to norms followed in
countries where such progra- mmes have been
successful.

C. change must be brought in the attitudes of people with
respect to efficient usage of energy.

(1) Only A (2) Only B

¥3) Only C (4) Both A and B

(5) Both B and C

Which of the following is most nearly the SAME in

meaning to the .word ‘UNDERPIN’ as used in the

passage 7

(1) Undermine

(3) Criticise

(5) Dispose | )

Which of the following is TRUE in context of the passage ?

(1) Employing retrofit programmes is relatively a new
concept and is yet to become popular

(2) The Government so far has been least supportive of
retrofit programmes

(3) Lack of trust on landlords has been cited as one of the
major barriers to employing energy efficiency schemes

v Retrofit schemes are dependent on incentives to bring
about attitudinal change towards energy efficiency
schemes

(5) All the given statements are true.

Determine
(4) Abandon

What is the author trying to convey through the phrase
‘albatross around the neck’ as used in the passage ?
(1) As light as a bird
Prevent from achieving success
(3) Are worthless
(4) Act as controllers
(5) Always provide adequate guidance

The author in the given passage 1s :

changes in employing energy efficiency schemes in his
country. _

B. positive that more evidence on retrofit schemes is
essential to make people more aware and sensitive
towards them.

C. cymical about the present state of energy efficiency
measures taken in his country.

(1) Only A wi) Only B

(3) Only C (4) Both A and B

(5) Both B and C

15. Asmentioned in this passage and according to the experts,

in order to exploit existing potential to better energy

efficiency measures :

(1) availability of sufficient funding is a must

(2) availability of reliable information from dependable
source must be ensured

(3) adequate and trustworthy suppliers of energy must be
made available

(4) governmental support by
policies is essential

) All those given as options

implementing adequate



16.

17.

18.

w3) suffer, associated

19.

20. ...

21.

22,

Directions (16-20)y—/n these guestions, the sentence has
two blanks, each blank indicating that something has been
amitted. Choose the set of words for each blank that best fits
the meaning of the sentence as a whole,

Owners of private hostels located in residential areas are not |

only taxes but are also functioning whimsically in
the ......... of any regulatory body.

(1) avoiding, front (2) paying, presence

(3) checking, dearth W) evading, absence

(5) destroying, life

Contractors across the State have to stop work on
the scheme after the Minister failed to give them concrete
veeeeen.. Of timely payment.

(1) thought, prove
(3) wished, demand
(5) determined, promise

Every third person visiting a doctor happensto ......... from
a clinical or psychological disorder with temblors.

(1) ail, regarding (2) sick, related
(4) agonise, respect

wZ) decided, assurance
(4) started, guarantee

(5) experience, connected

......... makes the actress’ trip to the country different this
vear 1s that she is to raise funds for the biopic of a
literary icon.
(1) It, aiming
(3) This, attempting
(5) How, waiting
...... itout in vehicles while remaining stuck in a traffic
snarl for hours, has become a matter for
commulters.

Sweating, routine
(2) Waiting, everyday
(3) Thinking, regular
(4) Harrowing, habitual
(5) Fretting, practice
Directions (21-25)—/n these questions, read the sentence
ta find out whether there is any grammatical mistake ferror

(2) Which, trying
‘VF} What, looking

in it. The error, if any, will be in one part of the sentence. |
Mark the part with the error as your answer. If there is no |

error, mark "No error’ as your answer. (Ignore the errors of
punctuation, if any)

He identified the most important machines required/for
modern life and worked in making a prototype/ ‘do it

yourself® version of each because he believed that if |

people/could build these themselves, it would improve their

way of life.

(1) He identified the most important machines required
for modern life and worked in making a prototype

(3) ‘do it yourself” version of each because he believed that
if people

(4) could build these themselves, it would improve their
way of life

(5) No error

MNatural disasters will not turn into a catastrophe/if we invest

in building infrastructure that/can withstand the devastating

impacts of storms/ which have became more severe.

(1) Natural disasters will not tum into a catastrophe

(2) 1f we invest in building infrastructure that

(3) can withstand the devastating impacts of storms
which have became more severe

(5) MNo error

23,

24.

235.

26.

27,

28.

29,

30.

Many goods are being manufactured quickly without/ any

regard for quality and as consumers we must be/aware of

our rights and the government /should penalise them who

indulge in unscrupulous business practices.

(1) Many goods are being manufactured quickly without

(2) any regard for quality and as consumers we must be

(3) aware of our rights and the government

(4) should penalise them who indulge in unscrupulous
busingss practices

w?3) No error

The European Central Bank has said that if all/Euro-zone

nation continue to carry out/economic reforms as Portugal

and Ireland have/then the Central Bank will guarantee

future bailouts.

(1) The European Central Bank has said that if all
Euro-zone nation continue to carry out

(3) economic reforms as Portugal and Ireland have

(4) then the Central Bank will guarantee future bailouts

(3) No error

While farmers are strugglingto cope with severe
drought/crop companies are researched/ways to breed crops
that thrive in drought.
(1) While farmers are struggling
(2) to cope with severe drought
W2} crop companies are researched
(4) ways to breed crops that thrive in drought
(5) No error
Directions (26-30)—In the given passage, there are blanks,
each of which has been numbered. Against each five words
are suggested, one of which fits the blank appropriately.
Find out the appropriate word in each case.
One World Trade Centre is viewed as a statement of hope, a
marvel of persistence and a miracle of logistics. As years
passed after the tragedy at the site at which it was since
constructed and the delays kept mounting. Americans began
to ...(26)... what's taking so long 7 Have we lost the
capacity to rebuild 7 The answer in part was the sheer
-..(27)... of the project - 10000 workers attempting one of
the most difficult construction projects ever in one of the
most densely populated cities on Earth ...(28)... the funds
allotted for the project were estimated as $1.5 billion when
the design was unveiled but the price tag just kept going up.
Other ...(29)... included the weather-in the harsh sun of
summer the steel beams could reach temperatures that were
not enough to singe skin added to which a hurricane
...(30)... the construction site. The monument may not be
all things to all people, but its completion signifies that
ambition coupled with determination of people in the face
of odds is intact and will always win the day.

(1) understand (2) anger
wonder (4) sense
(3) questions
yA) complexity (2) delight
(3) knowing (4) drop
(5) obsession
(1) When (2) Despite
(3) Instead (4) Exclusive
w5 Moreover
(1) advantages (2) information
challenges (4) attempts
(5) crisis
(1) formed (2) affected
(3) predicted (4) hazard

W) flooded



31

31

33.

34,

35,

36.

37.
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fador (31-35)— Aefeifas 7% & 3myR W Rw o 394t &

FW fFT) |
9% aul & S 21 QiR (A 74T B) & forg wifih
T AT @i WEAT W HaATUA STeT

900 —
800
E 700 /’_H_-_"‘\ /’_
L0 sl
500
Bl — = 7 =
300 T
P ool o7 N7
E 100 ¥
2003 2004 2005 2006 2007 _ 2008
e A| 640 160 380 800 . 760 520
e B| 240 360 600 680 _ 480 840
. 7§ 2003 ¥ gEEeEl A 3R B F fg v @i T g

& T GeW 747 99 2007 ¥ 3R I [EHeE § € -9
T T T 9 T & 499 w9 7 e 27

W 22:31 (2) 24: 3] (3)11:17
(4) 11:19 (5) 22 : 35

TEHEd A & fog & 2004, 2005, 2007 371 2008 & FHH
@il T qE # i g a2 ?

(1) 465 455 (3) 460
(4) 445 (5) 450

T8 2008 # A ¥R B & fog we-my @l

THE B A W § H Fad 20% Thd 3T o 6

2008 ¥ qeraEerEl A 3R B # fow ws-oy wie mo mfes
IGATET F FeT A T 27
(1) 324 (2) 312 W) 272
(4) 336 (5) 288
a4 2003 | 2006 7% [EHad B & faw @i T gw= @
g § fopae uftvm gfs 222
(1) 1?5%% (2) 1?2%% (3)

o A
196 % WA 1832 % (5)
194%%
a 2004 F B % fore wier 75 sl 1 9@ a9 2006
i e A ¥ fore wivd v qe S den @ R s 82
(1) 30% (2) 35% (3) 55%
(4) 40% W5 45%

T (36-40)—=feifaaT yot § a1 adfiwer [ 3 i &
TS 81 & G gt BT HiT

I gifr—
() afk x<y ()R x>y
)FRx=2y 4 A x<y

(5) A x A9 y & "weA way @ A fHar s v
I. 2x* + 23x + 63 =0

IL4y +19y+21=0 Ans:(l)

L 3x° +29x+ 56=0

IL 2y +15y+25=0 Ans:(3)

38.

39,

40.

41.

42.

43.

44.

45,

46.

47.

48.

49,

L 3¢ +23x+ 44 =0

IL 32 +20y+33=0 Ans:(4)

I 4x* ~29x + 45=0

IL 3 -19y+28=0 Ans:(J)

L 2x* =13x+21=0

IL 5/ -22y+21=0 Ans:(3)

A, B T4 C 7 U& @Y =R R4 fFam A 3 =mw #
ﬁ%ﬁﬁﬁﬁéﬂﬁ’ﬁﬁﬁqlﬂﬁmw
T fFAgcifom usmy fFm ad F amd 7
5,200/~ 1 FeT o9 gATI C & @ | fohaen e ar?
(1) T1,510/- (2) T2,510/-

(3) T 1,500/- (4) T 2,560/-

W5 T 1,560/

ToeeT (42-46)— FR=fefiam g samrer & gvfag (7)
T T T e ?

17 19 25 37 ? 87

(1) 63 (2) 52 (3) 55

(4) 67 W) 57

61 82 124 187 7 376 -

¥ 271 (2) 263 (3) 257
(4) 287 (5) 249

23 30 46 80 141 ?

(1) 244 (2) 212 (3) 226
(4) 220 ) 238

179 180 172 199 135 ?

(1) 236 (2) 272 (3) 240

(4) 256 260

14 6 56512 7 ¥

W) 29 (2) 27 (3) 23

(4) 33 (5) 35

UF Ao BHen § UE g i 38 A f @ owE &
w16 = F o w @ T 30 fE F 9= 35
mhﬁﬁ%ﬁﬂwgw%mﬁ!ﬂwﬁw
W H F AT S e @ iR R s @
BRIt W @1 3 AEvEEd 82

(1) 48 (2) 24 W) 32

(4) 16 (5) 36

A 7 TS 995 8 33 T B0 F w9 | 8% Fffs wmmo s
W I A A T IF S IS B F12% A wmawer =
FARIYR T gR T FIE AT T A T T
800/- F1 W g1, 1 Sias goft a4 87

(1) T 6,500/- ¥2) T 4,000/-

(3) T 6,200/- (4) T 6,000/-

(5) T 4,500/-

UF 9 = A T 60/- 9l B A T 105/~ 9 S

el 9 &1 2 e # amow § e R o R § A
e 9 7:2 & oUW | e v ARk 97 3 Mie e
H T 100/~ 9 e S o WA= 2, 9 39S g0 ww e
T Y SR 2 ?

(1) 3429 2) 3829
7 5
2 §

() 325 % W 422%

(5) 43_—?%



50.

51.

52.

53.

55.

. @ EIE A W1 B & o9 i gh

ﬁhaﬁaﬁmmmmﬁaﬁﬂmmﬂaﬁéilﬁﬁﬂw |

q¢ 3T dF a4 w21 81 WG & o w9 W awe oy |
F ITA FAY: 145 &1 G H FAA 3G T &0 |

(1) 6 74 (2) 15 78 12 3%
(4) 18 T8 (5) 20 =& il |
Tt 3 g9 % v 90 e fger § Faet 30% T &1 gu
faehen 3 =@ fosor © | 18 ofier v TS = R et i
74 gU Moo § 18 e o SR faen e sife fasor &
T wfirem gu 272
(1) 64% (2) 48% (3) 52%
(4) 68% 56%
W W § 4 o, 6 8l 5 deft 2 & af dm A=
Jefs w1 ¥ fEEl S g, 9 35 = nfdwa 2
T 27 2l Aun e e g 27

20 10 15
“}E (E}E ﬁ}a

5 25
(4}9” {5}91 |
55 ot Fard 3T 45 M =R a6 U AR Wi Fda g |

gl 9ISk & WA § | WY Wie F1 YA @ $ ®9 §
forar = 21 AR @i W SEwa 1911 99 & 2, A soe |
wgE F AISE #0127 |
(1) 5 i (2) 5.5 9t JHed
(4) 4 4t (5) 4.5 Wt |
827 fdt 21 us o
ga% 5 7 62 fadlde 9t 1 § Ry A ¥ RYA B #1 @R
el AR F4A) 2| T 9 {omel gag 7 59 59 e
F T IR B HEIA A T I TO WY FE A
2Ml termfeal fea wag amag d fiyedi? |
(1) 39T | == (2) §9% 11:45 o= |
&) TR 12:30 7 (4) §aE 11:30:30 = |
(5) EEL 1 : 37 45 =t '1
A9 A T g ° H 30% oy &1 < ) faem | ura o
1 2-fael w0 o & 2 ) fae &t a3 R |

ﬁmgﬂmmgwgﬁmaﬁr&ﬁmmﬁmaﬁ
I % T T 600/ I A €1 9K H e & o e

mﬁaﬁéaﬁﬁﬁmélﬁﬂ‘ﬁﬁﬁé%wfﬂwm|
|

afer 4 ?
(1) % 6,200/- Y2 T 8,000/- (3)% 6,000/-
(4) T 8,200/ (5) ¥ 10,200/-

TS (56-60)— [T=leta el &1 SAqa® 3997 |

BT T v & I dferwi
9T XYZ | a9 2007, 2008, 2009 36T 2010 = S fafae
Afdw (Hrom) Fan gfmiin |afdw Eue) et §
e g arer sreafdfat it w@Ear | et S1eT
Y Tafas ity (dom) Fefit-raror |t (TuE)
e I it e
el HEA | I (N9 H) | ohel W | e (ST ¥)
2007 58 75 30 52
2008 60 60 36 50
2009 70 65 52 40
| 2010 76 a0 40 60

yThe §U reafdar &t e we (W )

56. 94 2011 ¥ ‘dog’ a9 ‘Fuw’ 241 qolensi § wfte @9 9w
safial #1 Fa @@ 76 2010 § 39 24 glensdi § wmive
g aTer Tl i e e | 25% 3 A ad 2011 d
g T gienst § wfte g awn afgen sl & g
2, afx 4 39 ad I wienei § wifte @ A Fw arfde

a’ﬁﬁmaﬂ%m%?

(1) 52,000 W2) 58,000
(3) 60,000 (4) 62,000
(5) 64,000
57. a4 2010 ¥ ‘Suw’ wiven #§ fye gu wAw s ) g
HE 7 6 g Huw wen § whe gu R- EnE
safal & Fo wen § HAw: F4 S 87
(1) 13:21 (2)12:17
Y3 12:19 @) 11:17
(5)11:19

58. &4 2008 ¥ ‘Fuw’ wlen § e g wwe anafidl # g
HeA g6 o Hum wien § wite gy v srafdar
o wfrem @2

(1) 75% (2) 40%
(3) 55% (4) 60%
&) 50%

59. @ 2007 3R 2008 # ‘Hew' wien & wite gu enafddf
sited de a1 341 ot § fuw wfen # wie gy srafi

# aftgm e § = st 27

(1) 38,400 (2) 4,400
+(3] 26,000 (4) 26,400
(5) 24,000

60. T 2009 ¥ ‘Huw T Tew A wlensd § wive gw
AE UG F Fo g 747 87

) 66,300 (2) 64,200
(3) 60,800 (4) 62,800
(5) 66,800

foeor (61-65)— Afeifias wv41 § gvafag (7) & &HF W
YT F2 g S 7 (A A # o s 98 8)

61. 1439+ 16 x 14.99 + /(228) =2
(1) 1315 1365
(3) 1215 (4) 1465
(5) 1265

62. (11.92)° +(16.01)* = 7 x (3.85)°
(1) 15 (2)2
(3) 4 5
(5) 12 v

63. (781 T 19.97% ) + ? + (87 & 30%) =252
(1) 40 (2) 50
(3) 25 WA 70
(5) 80

64. 820.01 =21 x32.99 + 7 =240
(1) 105 (2) 173
W) 113 (4) 234
(5) 143

65. 299+ 12 % 13.95 + 7 =(24.02)°
(1) 285 w2 225
(3) 325 (4) 150
(5) 440



66.

67.

68.

69.

70.

71.

72,

73.

74.

T () : e e

P&t (66-70)— FAmiciita 3 3o 4 a7 397 3R 378 a3 3|
Fresd 1 3l 1 B e &1 s Be 7w #9 @ 9 w8, v
& 7 we e & A= i g &, S fw 77 AT & a-ar
e BT 7T F & WEF T F T A G

I T —
(1) af Saer e 1 5 2

(2)afz o fepd 1 iR T & 199 2

(3) afz Sheaer Fred 11 v 2

(4) afx =t fred ooy &

(5) afE = | fysed [ om 11 9 2

wae : F8 f Sl Tum A @) wft vt s € 5o

43 g9 &
ﬁ'ﬁﬁ:l.ﬁ‘ﬁﬁ*ﬂulqmqﬁ%l

1. #9-U-59 Fo b4 g &) Ans : (4)
HUT : T W BT § | FB BT 7 E
fred : 1. 7 W ffted w7 ® 30 8 §)

1. & I F1 37 8 uF |9 21 Ans @ (3)
m:w%ﬁm%n#ﬁ%m:ﬂﬁ%ﬂﬁ

fr=t 2
frerd : 1. F9-9-39 F9 o= e €1

I &5 o muw g TE &1 Ans: (2)
w97 : F7 AEa TEF § wf TEE T § 59 e

fiaemst £1
foremd : 1. it sAfiemnedi & ds 8 St T g9 2|

IL f s s &1 Ans: (1)

& Fo 3T TES §1 wd s e £ 39 W

Raemgt &1
fredd : 1 F9-3-99 $o e aftrm §)

11 ¢ o figengt uw s 78 &1 Ans: (1)
fder (71-75)—FA=fcifam SaRt &1 eaqas seadT #¥
few My yeAi & I A |
a3 i G, H, 1, J,N, O, P 3 Q us Hieft ufem # 43 §, wig |
HETgH e 6 5H F H) |
H,O ¥ 2t g6 ™H W 431 210 95 5 Rl 15 SR W AT 2|
H 3 N & 9 Faa 9+ =fam 42 §1
1, ] & A0 & AR ™F W a3 81 ] 3R G F A Fad o
= 3 2
P, N & UF fAmean vgr 4 2 |
fet § & o =afdm & 8 o i 5w Al SR W AST 87|
(1) P (2) Q (3)0

(4) 1 &) G
faddat) e Fdsdadas §?
(2)H,0

(1) 0,Q

N, Q (5)H. N
‘ﬂjﬁamﬁﬁpaﬂwm%?

o e 31 @ w7 3w
f3tparr.§afra?m (4) =d = =T

(3) =T =T 8T
ﬁﬁgw%mmq%mﬁﬁﬁmﬁﬁaﬂﬂ-mm
4 77

(1) Q 3 N % &= Fae & = 43 & |
W2) Q & @ 3R e & =fem 43 § |
(3) few o el & ¢ ff T 7@ @

(4) 1 3R G 24 Q & fgeay g2 §

(5) P, Q & UeH I w37 &

(3)0,P

T6.

T

T8.

80.

| | 25 p st G % dir ot o 43 0

(1) #§ T R (3) 2

(4) TR B &

T (76-80)—=iferfian S &1 S a S 5997
faw o gyl % IR ST

N,0,P,Q,R,S, T 3 U T FuIR & % Wl 31 TH-Fm
{ gum gt W3 §, 7 7% oavas 7 5 o w1 3
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